AEREATMRE ITHhEIE LRE

EHEPELIRE ", T - : ]
CIEELAR ARIRT ARG, WERECHERSHEE VLT,
HATPI34 A pLi: 4 etc «JLb—F1-1, L— b 2m3F4AE —BCR, BCP,STKR®D#F
e L — — jo A 3
STKR 130 140|140 |140 V= b2, b= b30HE  —~STKROER
BCR 120 (130 [130 [1.30 KIBHER O BB REIE, TEDEZRAL £,
BGP 110 (120 {120 |120 FEHATHD--- B, ARAKER- ", B E AT L TOAR WSS "etc”
) i i : i KEAT 77 LERIZ, [RAZBSIREZRASS] O"2A4 777 LER"
DREICLY £,
SR FTERRE [7.22 SERFEAFREICL 2I0HDEEL |
AN BIFE—X> b Mz AR Vy
3 1] é é B g 8 =3 1] g 0
' ' - ' " | o
7 A 3 8 M ®
T T ¥ ¥ YH -
(52} (34] ’ ~1
@ @ ! S < &
< < : o f .
@ @ Ak H ; 8
ELO H ELO in @ | EL0 1S 3
a @ 3 3 & &
) 0 o o o o~
9] ] [@ [0 - —
& & I8 | 8 o °
) X |
|
i) f ™ ™ | o o
} O T | < e 2
& @ = SH 5 3
N(RHA)+1.20*N (HZ5) Mz(FH1)+1.20*Mz (G Z ) Vy(RHE)+1.20*Vy (HZ )
=-314.35kN+1.20*96.35kN="199kN =4.90kNm+1.20*-88.50kNm=F10TkNm =-4.38kN+1.20*61.12kN=69kN
7.5.3.2. KB ROWEIRER
 um WE @A
1SC1 N
1F/ X1/Y1 E—300x300x19/66._5 BCP235
4 MRS Zy Awy fcl fsL Lb_l/ Ky Lky Aky
FA 4300 160(.3.000 9750 136 90 {3.00 1.27 5466 49.25
Fy A _Z.z Awz fcS fsS :-':Lbz Kz Lkz Akz
235 19500 16_6.0000 9750 204 136 4300 1.27 5466 49.25
BAE BEBLAT 77 LA . HRBEL DB L
90.00 =31 BEAT 77 L ‘ R ‘ Z ot HE 1.20 (2 <120
s /REE HRISNE
fiE HWES—2 - —- COM1 |.-COM2 HE
N M.i Mz ‘ Qy Qz Cy ‘ fby Cz fbz <
EhfE | 430 146 5 -4 91 g
3B -E90 — - 235 235 0.51 0.50 OK
BELL 0.11 .6.39 0.01 0.00 007
mhiE | 430 | ie07 14 -4 A1
AR -E90 + 235 235 0.69 0.68 oK
REL 0.11 0.55 0.04 000 |- 0.07
A H A coMm1 com2
WEEAE EY T o HE
, , % B y d | mm | oW | Hm | aE
& 314 i 39 5 S 35 14 4 A7
i T - G oK
BEL 0.12 0.16 0.02 0.14 0.06 0.00 0.02 0.29 0.31 0.28 0.28
& 199 39 -101 -35 159 69 I -17
+EO0 OK
REL 0.05 0.10 0.27 0.09 0.42 0.05 0.01 0.42 0.56 0.42 0.42
2020/4/6 1/1



